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™~ 1 Explain Steel Yard with the help of neat diagram.
fawastst o & |faT Fsze |
21 IFind the C.G.(Centre of gravity)of the section shown in the figure 1.
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3. IFind the C.G.(Centre of gravity)of the section shown in the figure 2. . ®

et R & Q@R 910 @us &7 a5cd &g A Hfod | (FgR-2)
4. The horizontal beam of a bridge is 50m long and of weight 10KN. The beam rests on two ends

of similar type of supports. Find the reactions on these two supports when a weight of 5KN is _@

placed at a distance of 10m from any support on this bridge.
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